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ANOVA

f&J, (S.V.) df. SS. MS. f

mkl& - - 103.3 f, 4 51.65

?umq 184 __ f*  = -

Error 24 -

Total 518
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i 1 2 .3 4 5 6 I 8 9 10 11 1 2 13 1 4

X, 2.1 2.6 2.1 2.7 2.1 3.0 3.0 3.0 3.1 3.1 3.2 3.3 3.6 3.8

Yi 2.6 2.8 2.9 3.6 3.6 3.1 3.4 3.1 3.9 3.1 4.1 3.6 4.0 3.6

I

xx, = 41.9 q< = 47.4 S, = E(xi - X)'= 2.3893

Ix; = 127.79 Iyy'  = 163.26 S, = Z(yi - 7))'  = 2.7771

Exxiyi  = 143.59 S, = X(x; - %)(y,  - T)  = 1.7286

hmJYuOJfll5n~flQu  : Y = /30 + /3,x + E

fhWI b, = $0 = 1.2203 rlti:  b, = 13, = 0.7235

1) Prediction equation W?FI  Sample regression equation %I

2) 6&l x,I = 3.3, g,z = Ml~:n'l~~~ residual ell =

3) aGJml9%XmJ~Sd

ANOVA

S.V. df. ss. MS. f

Regression __ 1.2506 f, = 9.8318

Error .1272

Lack of fit .I171 t = .8287

P u r e  e r r o r  _ _ 0.7066 .1413
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i = 1, . . . . 4; j = 1, . . . . ni
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T* 39 5 1 60 60 G = 216

9.75 8.5 12’ 9.4286 ji  = 9.8182

‘s? 9.5833 4.7 3.5 4.619 8: = 22.4023
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ANOVA

S.V.

tfltQd”5

Error

Total

df. ss. MS. f

35.3085 f. = 2.2546

5.2202

- - s >(

SST = (11aFlal1n’1)

SSE = (11nflchi1)

Model : xi, = p + u,  + E,, i = 1, . . . . 4; j = 1, . . . . n,

0 wnmmu  H,: 0:  = a:  = . . . = 0:  T+lfX  Bartiette’s  test IWfhW~filVEl~~~~~~

d%‘lMfQlJ  th b. = 0.9421

2) 0GhJiuons.1~  ANOVA  l~~sDilw4o~~sn~noVna a  =  05  i71”4Q48’nS& 4  h-J1lJlf?

lnil”lu”,5w’ic9,n’,nnu~n~Q~~
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6. oinlonu’ x 0 1 2 3 4 5 6 7 JWJ
I

01 372 360 191 57 16 2 1 1 loo0

m = (0 x 372) + (1 x 360) + . . . + (7 x 1) _ loo0 _ ,
1000 1000

8lfle91514  Poisson

Pr[X  < tl/d  = 1]

.3679

‘.7358

.9197

.9810

.9963

2994

2999

1.0000

Pr[X = r] = p,

.3679

.3679

d

.0153

.cQ31

.ooo5
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ei = -

,
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Model : y,  = Vi + y(X,  - 2) + E,j = /.I  + aj + Y(X,  - :) + E,

i = 1, . . . . 4; j = 1, . . .,  4
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1; 1 .l  fl)  Point estimate

U) Sampling distribution

1.2 Chi-square distribution fig  df. = n

1.3 t-distribution ??;  df. = n

1.5 Chi-square distribution fii df. = k - 1

1 . 6  ol5”?ln4l~:w’n?l~uu~~~~~~

1 . 7  ~TlMlGvxGa  x  9vJ111~5WlOJdQ  Y

&d+X$J&l  Y ,  E  h?wl~lijlBl&k~  /i’o,  /3x

1.8 t-distribution % df. = n - 2

1.9 Z-distribution, &I@i~WfIJI.iiVQWIl#J

1.10 L, &.A  contrast 1W9lE : ci=o
i=l

L1 IdU contrast 1W5lZ : bi=O
i=l

L1 IlW  L,drthogonal  f% IW5lX : bg, =  0
i=!

c,  = x,  + x,  - x,  - x,

i, = 4x,-  x2-  x,  - x,  - xs

2. 2.n)  n = 6, s*  = BOO19

6 &4~~~~75~~tdif1

1) H, :  02 =  .00013

2) H,: 02 > BOO13
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3) (I = .05

4) CR : X’ > X&a  = 11.07

5) x: = 7.3077

2.u)

AN’OVA

S.V. df.

WlhkJ 3

%ltj 4

Error 1 2

Total 1 9

ss . M S . f.

310 103.3 f, = 51.65

184 4 6 f, = 46/2  = 2 3

3. 1) $ = 1.2203 + 0.7235x

2 ) $12  = 3.6079, e12  = y12 - $,2 = 3.6 - 3.6079 = -3079
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3)

ANOVA

4) f-l)  6 iblloa”,sw~nolliio

1) H, : fi, = 0

2)H,: /3,PO

3) a = .05

4) CR : F > f ,,,,  2),.,x  = 4.75

5) f, = f, = 9.8318

6) f, > 4.75 m@flm H, d a = .05 &&I  y &~@IJ  x

v) 6 &.m~“ml~are~iio

1) Ho  : There is no lack of fit
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ANOVA

S.V. df.

HlkJ4C”“fis 3

Error 1 8

Total 2 1

ss . M S . f

35.3085 11.7695 f, = 2.2546

93.9642 5.2202

SST = ffx;  - CF. = 2250 - 2120.7273 = 129.2727

SSE = SST - SSR = 129.2727 - 35.3085 = 93.9642

1 )  H , : a, = 02  = a3  = cl4  = 0

2) H, : i a, P)~&J~J  1 Qh # 0

3) a = .05

4 )  C R : F > f - 3.16<3,1*,..05  -

5) f, = 2.2546
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5. 5.n) 6 ibwo-a”ml~nauiia

1) Ho: X m Poisson

2 )  H,: x lu’ij muww  G!huu  Poisson

3) a = .os

4) CR : X2 > X:,.,,  = 7.815 (df. = 5 - 1 - 1 = 3)

5) Pr[X = 21 = p3 = .9197 - .7358 = .1839

Pr[X = 31 = pa = .9810 - :9197 = .0613

ei  =  npi  =  lOOOp,

ei: 367.9, 367.9, 183.9,61.3, 15.3,3.1, .5, .l
I

19.0 (SW  ei’s  ~htl%X~n’70u’~~u”oU 5)

$ = .8436  = ; (Of  - e32
i = l ei

6) x:<7.815  h.&jl~~  H, $
L,cr

a = .05 MWlO  X m Poisson

5.W)

ANOCOV
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4) CR: F > f - 3.59(3,11,..05  -
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